Roll No:-

(Sem - V1) Diploma Exam 2024 (Even)
(Civil Engg.) (Theory)

[Time: 3 Hours] Water Resources Engineering. (2015503-P)

All questions are compulsory. (et 5z sifEe & |)

[Full. Marks: 70]

Marks are mentioned on the right side of each question. (/% @t wor % a8 it sifea T )

Group (A) (YU -¥)

Q.1  Answer all questions as directed. (2x10=20)

(fRgemar |efr yeall & 3 )

a) A rain gauge should preferably be fixed
(near the building/under the tree/in an open space/in a closed space)

auT A9e IF H JfHAET: TRT ST AR
(79T & 9TE/93 F A/Gell S A/de SIE H)

b) The duty is largest
(at the head of water course/on the field/at the head of a main canal)

38 T A dA gl &l
(STel vate o MY GyACHT RWHET 7T & A W)

c) The ratio of the quantity of water stored in the root zone of the crops to the quantity of
water actually delivered in the field is known as
(water conveyance efficiency/water application efﬁuency/water use efficiency)

W%Emﬁmﬁmﬁ@rmm@ﬁﬁqwddﬁqgwk IT 9Ty
T AT & AT B F T H ST AT g
(STel AR@ET S&TcT/STel 3TNIT S&TA/STel 3UANIT S&Tc)

d) The water stored in the reservoir below the minimum pool level is called___
(useful storage/dead storage/valley storaae/surcharge storage)

FHATH ol TR A A ST & GIHET 5ol 1 el Sl B
(3TN HSROUT/FAT HSRUI/ETE $HSRUYATANR $SROT)

e) Ina chute spillway, the flow is usually supercritical. (True/False)

IR fE9erd &, Jalg A oRfshichd BT &1 (Hcd/318c)

f) A sprinkler irrigation system is suitable when
(the land gradient is steep/the soil is having low permeablllty/the water table is low/the
crops to be grown have deep roots)

ST gl [&iehory f&ETS gomell 3ugerd giel &
(C1fH T TTer /fALT T IREFIAT FH/STT TR FA/ZIG SAleT dlell HHAT T
EERUSY)

g) Bandhara irrigation is a special type of Irrigation practiced in the some parts of
(Karnataka/Punjab/Bihar/West Bengal)

SURT TS U 3RV yebR B [wrg € S & o foed & gt gl
(FaATesh/Ione/fegR/af¥as Famd)
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h) Divide wall helps in concentrating scouring action. (True/False)

)

Q.2

Q.3

ferTetes SaR IRATGT AT I ShgT e # HAce ! &1 1(FST/3E)

When a canal is carried over a natural drainage, the structure provided, is known as

(Aqueduct/ Syphon/Super passage/Level crossing)

SIS Teh oAgX 1 Whicieh Sfel Al & F9 Aol ST STl 8, ol S=iry
T IS TEAT FT __ & T H AT AT &
(TeFaTSFC/ATS /U dAT/Idel ShITAaT)

Match List-1 with List-11

List-1 List-11

Type of formation Characteristics

A. Aquifer 1. stores water but yields little

B. Aquiclude 2. stores and yields water in sufficient quantity

C. Aquitard 3. neither stores nor yields water

D. Aquifuge 4. stores but does not yield water

-1 FEA-11E AT AL

G Gl

AT T gER faeryan
A. UFEHRR 1. STl Hafed a1 § dfhed STol A &am &
B. UFdIFe[s 2. gaied AT #F e HT HSRUT AR FF @ g
C. UiFgers 3. o A STel T $SRUT el & 3R o & 5ol ar B
D. TFdIFgsT 4. #ERUT A AT ¥ Afthel ST A ST

Group (B) (99 -8

Answer all five questions. (T8l arer weal & 3ca” &) 4x5=20
Explain the hydrological cycle with neat sketch.

STel Tsh &l ¥as¢ U afgd aFsmsd|
OR (3{¥dT)

Describe measurement of rainfall with Symon’s rain gauge with neat sketch.

ABHT & qUATH IF F g7 6T FAT &7 T @iraT afed oled |

Explain the types of water available in soil.
Hel H 39T STl & JhRY &l FHASSY |

OR (31ydm)
State the factors which affects the duty.

ST FY THITAT el aTel HRHT T TASY |
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Q4

Q.5

Q.6

Q.7

Q.8

Draw a typical cross section of an earthen dam giving important part and label its
various components.

FET e % JTIEY HICHF 7 ToAT T 3Hh AT AP AT faaR0T & gU fafdie
3agar F GRAMBT

OR (3HYdl)
Draw a neat sketch of gravity dam and show various forces acting on it.

Iocd ST & Ueh TAES IWMAT & 3R 38 W SR a6 arel e
ot &1 fe@m|

State any four functions of a spillway.

Fgerd & $$ IR HF TS|
OR (3Yd)

Explain the advantages and disadvantages of lift irrigation.

3cdes ars & o AR gifel Jarg|

Define balanced depth of a canal section.

gL WS I Aclfold M5 I IRATT Y|
OR (3HYdl)
Explain the purpose of Super passage.

IR AT & 3T HI TS|

Group (C) (gtr-#r)

Answer all five questions. (It ufer ushi & IR T |) 6x5=30
Describe Thiessen’s polygon method with suitable sketch.
MAT HT SgafsT A T 39gFA Y@IAT & T I K|

OR (3ydT)
Calculate the average annual rainfall of a catchment from the following data by
using Arithmetic mean method.

CO3 | 3

CO3 | 3

CO4 | 2

CO4 | 2

CO5| 2

CO5 | 2

COo1l| 3

Area of Polygon in Sg.km 20 30 24 26 25

Rainfall in mm 1400 1500 1100 1200 1300

Also calculate maximum yield in mm3 by using Inglis formula.

3FHIATOIT AT AT T 3TN lh AT AT 3Thal I STIgoT & dr
g afSe aut &Y omEr Fy)

TGS FT &Fhel gor fraAy. & 20 30 24 26 25

ast A A7 1400 1500 | 1100 1200 1300

gaTferel §F 1 3UANT Feh AAI3 A fUhcAA des $r o o ¥

Explain duty, delta and base period of crops and establish the relation between
them.

BHAl & 3IEY, 3ol U YR AT &l GHASTSY dAT 3o fIT oY
T Hife|
OR (374a)
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Q.9

Q.10

Q.11

Define consumptive use of irrigation water and explain the factors affecting it.

fEarS STol & 3eToholdd YT & IRHATVT Y TUT 5§ T el

aTel SRl hl ITEAT HY|

Explain the different types of joints provided in gravity dam.
Tocd I # v v [Affed IR & S8 & HSST|

OR (3YdT)
Define spillway. Explain the different types of spillway.

v &1 aReniia &Y Rued & RAffied gRt A FFsmsd|

Define Bandhara irrigation and explain its components with neat sketch.
TYRT s & aRe¥a #¥ 3R sa% gcHhi FF Th Tawo W@ifaT & aryg
HHST

OR (3{YdT)
Explain the necessity and importance of percolation tank.
QI & T TaeIHhdl Ud Hgcd I JHSSY |

Draw a neat sketch of diversion head work and label their component parts.
Explain the purpose of providing divide wall and fish ladder.

3ad MY FI FT Toh TaTo IWITAT T8 3R 39F 90 il AR o |
fasirsTes a3 AT WEr &l Telled FT 32T I

OR (374
Explain different types of canal on the basis of the following with neat sketch.
(i) Alignment (ii) Discharging capacity

fFafaf@a & 3R W [Jffe gvR I A0 FF Taws 3@ 1 Jg™dar 9

qASTSA|
(i) TXGOT (i) TETToT 87T
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